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ECONOMICS

Full Marks : 100
- Pass Marks : 30

Time : Three hours

The figures in the margin indicate Jull marks

Jor the questions.

PART-A (I -9%4)

Q. No. 1 (a-f) carries 1 mark eqch 1x6° = 6
Q. Nos. 2-7 carry 2 marks each 236NN D
Q. Nos. 8-12 carry 4 marks each ' 4x5 = 20
Q. Nos. 13 & 14 carry 6 marks each 6x2 | = 12
| Total = 50

PART-B (4 -9o4)
Q. No. 15 (a-f) carries 1 mark each I1x6 = 6
Q. Nos. 16-21 carry 2 marks each Ix60 = 5D
Q. Nos. 22-26 carry 4 marks each 4x5 = 20
Q. Nos. 27 & 28 carry 6 marks each 6x2., = 12
Total = 50

Total (Part A & B): 50 +50 =100
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EART (el S. What is the difference between frequency polygon and frequency curve ?
1. Answer the following as directed : 1x6=6 | ! ’ s
weTe AR iﬁt:ﬁ/‘m‘a Ted 4l ¢ RITS] ITSG O AR (1T T A2 Fe

(@) Give tlge meaning of statistics in plural sense. 6. Define weighted arithmetic mean. : 2
Tze1 fofes ARPRUE kel SoITsHEi | Sifts Fwias S TRE SR |
(bp) What do you  mean by Secondary data? 1 _
5Tl w2y I e 2 : 7. Name the two measures of dispersion. 2
(c _____ method involves each and every items of the universe. [[ozad sioE 7ol “amiod /i &4 |
(Fill in the blank]
1 8. Mention specific characteristics of arithmetic mean. 4
oot % €O afers! e Reasal T | (<57 517 779 7 TG N O @R IR BT
(d) The diagram which repi‘esents the data in a circle is — 1 9. Draw an ogive from the following table : | 4
(i) Bar diagram | Od OIfeiRl SRl OBl SIfee ST F4] 8 _
(i) Pie-diagram Income 0-10 | 10-20 | 20-30 | 30-40 | 40-50
(iii) Multiple diagram B _
(lf) Subd1v1de_c_1 ba:- diagram. % Nl e 5 T 15 95 3 5
GGl e [OoF© 9 TAZAAF 2@ ool (202 — L .
| g QJE%‘”Q FRAGI
() we ©a
(i) =iz Ba OR/
(iif) G %ﬁrﬂ' Represent the following information in Pie-diagram :
: are A
(iv) 1% me ol o oo SR AR e FRErS e T ¢
t isti . ! : ;
(eliiliains threeﬁrioi Con_lm?nly Hsed St?;lsucal s ooy ; Items of expenditure Labour Bricks Marble Cement
T IO [OMHRY AfERRIE g & e | e e e 351 — T
()" There are |4 b illqliartiles)in aiseries: - (Fill in the blankil Company 10,000 3,000 5,000 2,000
FCI
G (ET® Bl 5uds AT | (2 ‘1‘7(@){
_ | 10. “Sampling is the best method of collecting primary data” — Justify this
2. Mention four limitations of statistics. - 2# statement. _ 4
ek [eelea Rcele) 5IR61 Aaae! e 34 | _ H “2ifObR (202 AR 92 7ReRY TR @©” — CfGUOR TN Kb |
3 Name any four methods of collecting primary data: : 2*-1[ 11. Calculate arithmetic mean from the following data : &
ﬁim—@mﬂgﬁﬁﬁmﬁm WW%‘HI X \96121"\5%9ﬁ1wilﬁﬁﬁ?ﬁ‘?ﬁwg
; j Class Interval| 20-25| 25-30| 30-35| 35-40| 40-45 | 45-50| 50-60
4. What is the difference between random sampling and non-random sampling? T ST o
2 ' :
: ¢ “ Frequency 10 12 8 20 11 e S
qiyfoes efoba SIS S-2s afepzme iem #idk [o| 4| | ;! S
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12. Find out Karl Pearson’s co-efficient of correlation from the following data‘; OR/ T

Mention one merit and one demerit of median. Calculate median from the

oo SR o7 FeT (PIaoaa Azoraa edikE g i 2 ' following data : . 1+1+4=6
X 50154156 |58|59|60|61|62|65|75 SR GRIBIE @ S (M BrEd 9 | 9o oAR_IRNT o= LT GTW 9 ¢
Y 202224 [(30|32|36|38|40 |44 |54 :
) X [10-20|20-40 | 40-70]|70-110(110-180
OR/ F1 Y 4 10 26 8 2
: . LRgYih ) 4
Explain the significance of an index number.
i = PART-B / -5/

5 AAT OIA 2 I T4 |
(INDIAN ECONOMIC DEVELOPMENT)

4 - . - . iy Mean
1.3= Deﬁ.ne. Stan_ddrd dev;atmr'l, Range, Quartile deviation, Lorenz curve, o (W@?f R w)
deviation and Inter-quartile range. : 13
E 5o, 299, peds [6e, iEE @2, 91T [oe Wi Oies vedks e e Ml 15. Answer the following : 1X6=6
or = weTe AR Oes frat ¢
Railways were int ‘ ‘ ; _ :
Calculate Mean deviation and its coefficient using arithmetic mean. (@ o I ioc slee N e ol i 1
3+3=6 SReS b A (SECRI ke 11 27 |
woiq EW 29 A 49 A12[4\9 ST-'\; ](‘%l{)c't‘{ Ol 51-\5 ?][701'1 CO|RP ﬁcﬁ[ F4 ¢ {b) What do you mean ‘by Modernization 2 1
| Marks 20 | 30 | 40 | 50 | 60 70 , SR e e gt
4599 ' i (c) Define Privatization. 1
No. of Students | 8 12 20 10 6 4 F GfesTeael Jee |
Ba-Z@E AN | :
(d) What is the full form of NABARD ? R |
Construct an Index number for 1999 taking as the base using simple average NABARD T 74 S f
. . & 6
of price relatives method. ! : | (¢) What is Human Gapital ? . :
ARSI 37T 91T 2dieT] A2 TR o e A& Sens IS fSfe Bpiet ¢ sp TR
sl 3 AT ere Ao {2
Commodities R G D B T 00 Mentionidny o cauisesiofimilation: 1
ST TS Rl 751 SRl Seapl 3 |
Price 1n "985 (%) 8 15 12 10 10 1:2:5 .
19853 Wi (3) 16. Name two notable economists who estimated India’s per-capita income during
Price in 1999 (%) | 10 | 21| 36 | 14 | 12| 17 the Colomaliperioc: | 2
19993 Wi (?) | AR T TS SIS TGS it S1o) 1 o etfigaisy SR A fra |
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17. Mention two important problems of Indian Agriculture. 2 25. Make a comparison between India and Pakistan as regards national inc
ome,

LN el T e size of population, birth rate, literacy rate and-sex ratio. 4
B | SIS O, G SIS, T 2R, AT 39 SF fesi

: : . . : 2 B IOE] ofe
18. Point out two failures of ecBnomli reforms in India. | OeT Wi AAfFEIN Tere ISEDIRSEIN STy eSS [ofe i/
oEeadq Sdtafes AHRI 75/ [EFerel TrAE T4
26. Explain the positive im -
_ pacts of e
19. Define absolute poverty and relative poverty. 2 | i conomic reforms. o
2 | TR AN eelT 2 [acm a5ei3 R
o[ vidwel SiE SiAfEFS ngeR FKEEl M3 |
. : : : ; 27. What do you mean b i :
20. Mention the importance of human capital formation 1n India. 2 _ ol t}l; bln y efI:IVIFOHmenta] degradation ? Suggest some measures
e proble i .
s i P ms o enwroz.lmented‘degradatmn. e 5=¢
AR oS I R 9ei1? @R SRS @1 T GRB e SR
21. What do you mean by agricultural marketing? 2 , i
R Rl 3free 7 @2 | ORI
22. Mention four unemployment alleviation programime taken by Indian xplain briefly the following : B e
Government. 4 (@) Demand-pull inflation n
SIS 5IFIE sizel I pifad Al Faiead Siibfe i Sead | 'f (b) Cost-push inflation.
: 1 &g AlEelt v5 o
OR/ 7t | 0! T2ER foyalf
] (a) 5“%”‘@”210 ﬂ_&:—{l’??]i\g
What is Rural Credit? Why do farmers need rural credit ? - 1 (b) JAGS TaFRI |
STy el T e FaaE @2 el 5T ATAH 2
: i 28. What do you mean b . ;i
_ _ kgt i 3 3 | y organic farming? M :
Briefly Tenuon the basic causes if 1;?;Qverty in India. . : 4 | traditional farming and organic L ake a comparison between
SIeS NRuel Ted (R Y FIREEE [F 12 = i 2+4=6
| _ WWW%W?WQS%W@W%WW@ﬂ%w L
Briefly mention the causes of inflation.
@FFIST 5 FRePEE S 4 | |
24. What is Environment ? What causes a stress on environment ? 4 i
slifENRErst sie &2 iR esme faEst 2er oo e TR T2
OR / 91
Explain the types of infrastructure. 1 S
SiEesie ffen e faa e :
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